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Circle the letter of the correct answer among the four choices given.
There is only one correct answer.

PART I - GRAMMAR

1. The student asked for university applications. The counselor replied
that they depending on the institution, but most were within the next
few months.

A. what the deadlines were ... varied | C. what had the deadlines been ...
had varied

B. what were the deadlines ... were D. what the deadlines had been ...

varied had been varying

2. The teenager __ the policeman in the early hours of the morning
outside the concert hall.

A. was alleged to hit C. is alleged to have hit

B. alleged to hit D. had been alleged to hit

3. Peter Higgs, _ the 1995 Nobel Prize for Physics was awarded, passed
away last week.

A. to whose C. whose

B. whom D. to whom
4. Iwish__ my dreams and aspirations more vigorously in the past,

letting them slip away.

A. I pursued ... instead of C. I did pursue ... better than

B. I had pursued ... rather than D. I would pursue ... but not




5. Last year, a series of robberies

enforcement agencies

in the downtown area. If law

stricter security measures, the crime rate

might decrease significantly in the coming years.

A. committed ... implements

C. were committed ... implement

B. was committing ... had
implemented

D. were being committed ... have
implemented

6. Before he got promoted, John

several years. Next month, his promotion

tirelessly on various projects for
to his colleagues.

A. had been working ... will be
announced

C. worked ... was announced

B. was working ... is being
announced

D. has worked ... is announced

7. Rarely such devastation caused by heavy rainfall in this region.

Authorities
disaster.

financial assistance to the families affected by the

A. did we witness ... need have
offered

C. we will witness ... have offered

B. have we witnessed ... ought to
offer

D. we witnessed ... might have
offered

8. The scientist insisted

to combat alarming environmental issues.

A. to take urgent action

C. that urgent action be taken

B. that we took urgent action

D. taking urgent action




9. By the end of the decade, activists hope that significant progress in
ensuring equal rights for all individuals worldwide.

A. will make C. will be making
B. is being made D. will have been made
10. Despite the initial challenges, Naomi eventually her anxiety

through therapy.

A. used to manage C. would manage
B. is used to managing D. got used to managing
11. the signs of video game addiction earlier, you would have been

able to address it before it became a significant problem. If only you
help sooner!

A. Had you recognized ... you had C. If you recognized ... are seeking
sought

B. Have you recognized ... you D. If you recognize ... were seeking
sought

12. I regret at the animal shelter last weekend.

A. miss out volunteering C. to miss out volunteering

B. missing out on volunteering D. that I missed out to volunteer
13. Mark wishes his depression and live a fulfilling life.

A. he will overcome C. he could overcome

B. he overcame D. to overcome




14. Many adults a diet schedule in an attempt to improve their eating
habits.

A. have a nutritionist to design C. have designed by a nutritionist
B. get a nutritionist to design D. make a nutritionist design

15. six months before the sailor with his family.

A. There will be ... reunited C. There would be ... will reunite

B. It would be ... had reunited D. It will be ... reunites

16. in politics that decisions are made behind closed doors, the
public unaware of the true motivations behind certain actions.

A. It is often told ... to leave C. They often tell ... left

B. It is often said ... leaving D. They often say ... to leave

17. Animal rights activists demand that stricter laws against animal
abuse to ensure the well-being of all creatures.

A. to be enforced C. be enforced

B. being enforced D. are enforced

18. Some individuals focus on accumulating wealth experiences and

personal fulfillment over money.

A. yet others value C. even if others are valued

B. whereas others value D. despite others value




19. investing in education
society.

to bring about positive changes in

A. Seldom does.... fail

C. Not only does ... fail

B. Rarely has .... fail

D. Hardly ever is ... failing

20. The relentless demands of work and family life

exhaustion.

to a feeling of

A. should have often led

C. can often lead

B. must lead often

D. can’t have led often

PART II - VOCABULARY

21. She moved across the dance floor with

testament to her elegance.

, her every step a

A. gracefulness

C. clumsiness

B. awkwardness

D. stiffness

22. I was impressed by how quickly the new student understood today’s

complex problem. He seems to be
solutions.

in analysing situations and finding

A. oblivious

C. astute

B. inept

D. intelligent




23. A: I find your theory intriguing, but can you prove it with facts?

B: Absolutely, I have conducted extensive experimentsto_~ my
hypothesis.

A. liquid ... confirm C. solid... undermine

B. solid ... substantiate D. liquid ... disprove
24. The __ dedication of humanitarian aid workers enables them to
persevere despite any obstacles they encounter.

A. tenacious C. weakening

B. hesitant D. assimilated

25. The prosecutor presented the DNA analysisas __ evidence, sealing

the defendant's fate in the courtroom.

A. conscientious C. consecutive
B. conventional D. conclusive
26. The search and rescue team to find survivors amidst the

wreckage of the accident site.

A. retreats C. endeavours

B. despairs D. alleviates




27. During the career assessment, her high scores in analytical thinking and

problem-solving tasks demonstrated her for engineering.
A. timidity C. talent
B. aptitude D. aversion

28. A: How was the training program?

B: It was excellent! The instructor provided a(n) overview,
covering all aspects of the software engineering process in detail.

A. universal C. inclusive

B. specialized D. comprehensive

29. A: What's the big announcement today?

B: They're going to the new product line at the conference.
A. discard C. unveil
B. conceal D. relieve

30. A: I see you've been working on your writing lately. How's it going?

B: It's been a process of constant , polishing each sentence until it
captures exactly what I want to
A. enforcement ... reveal C. refinement ... convey
B. enhancement ... imply D. alteration ... suggest




31. I think our presentation lacks impact. We should consider using

multimedia to help the key points and make them more memorable.
A. diminish C. obscure
B. accentuate D. condense

32. A: What did you think of the movie?

B: It was well-made, but I appreciated the characters' more than
the plot itself.

A. prejudices C. stereotypes

B. inferences D. depictions

33. Her attention to detail was evident in the arrangement of every
piece of furniture in her apartment.

A. immaculate C. dishevelled

B. cluttered D. unspoiled

34. She had amount of time to complete the project, allowing her to
thoroughly research and present her findings.

A. scarce C. elevated

B. limited D. ample




35. There is no such thing as leader. Everyone should acknowledge
that mistakes are inevitable and embrace feedback as a means for
improvement.

A. a defective C. an infallible

B. an independent D. a flawed

36. In the aftermath of the hurricane, the Chief’'s mind remained
enough to provide clear instructions to the emergency services.

A. radiant C. obscure
B. lucid D. gleaming
37. The symptoms of stress can in various ways, such as headaches,

insomnia, or irritability.

C. disguise
A. intensify

D. manifest
B. evaporate

38. Anna always seems to know the best study strategies for each subject.
Her academic is quite impressive.

A. evidence C. record

B. response D. effect




39. Due to climate change, a great number of bird species have stopped

A. immigrating C. diversifying

B. migrating D. flapping

40. Pablo Picasso was incredibly _ during his Blue Period and produced
numerous masterpieces, like "The Old Guitarist" and “"Mother and Child.”

A. prolific C. fertile

B. stagnant D. barren

PART III - WRITING
Write on the following topic:

Juvenile delinquency around the world is on the rise. Discuss two reasons
why criminal behaviour in adolescents has increased so alarmingly. Do you
believe that stricter punishment can make a difference?

Write an essay of opinion to be published in the school magazine.

Your composition should be between 180-200 words. Make sure it
has a beginning, a middle, and an end.
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MEPOX I. EPOQTHXEIY ITOAAAIIAHY EIITAOT'HE

Hapakaiovug, vo GHUEIDOCETE 6TO ATAVTIHTIKO PVIL0 TOV 6OS EXEL
000¢i To ypauua mov avTicTol el 6TH 6OCTH ATAVTHGY VI TIS

epotioelg 1-10

1) Y& moln amd TIC TOPUKAT® QPAGELS VIAPYEL TOMTIKY AELTOvpYiol TNG

YADGGCOC.
a.

B.
Y.
d.

X0eg €ytve oeloOC Ko OA0L TpOHaCay!
Koaveig dev pmopovce va tov @épel avtippnon.
‘Eviwbe va BovAdlel 0nwg o pio Adpvn.

Ot pontég eival amoyontevpévor.

2) Bpeite v mpdtacn mov €yel Adbog:

Q.
B.
Y.

J.

Ot owtoémTES LAPTLPES dMYNON KAV TO YEYOVOTO.

Ot emtvyOVTEG EPOVELTNKOY OGOVS ELYOV OTTOTVYEL.

To moudil Kuvnyovse TV TETAAOVIU TETOVTAS OO AOVAOVOL
€ AOVLAOVOL.

Ot amepyol avEGTEILOY TIC KIVITOTTOGELS TOVG,.

3) O\ot o1 Tavtoyvmoteg £xovv palevtet edm! (Tt dnAdvel To BovpooTiKo;)

a.

B.
Y.
0.

gpwveia
evBovolacpod
OTOYOTTEVOT)
Bovpacud

4) Metdvimoo mov 6ov gira TNV aAnfeio: Tt SNADVEL TO VTOYPUUUICUEVO;

a.

B.
Y.
5

YPOVO

ortio
GUUTEPOGLLOL
oKOTO
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5) Avtdg o «@ilog» pe katéotpeye! (Tt INADOVOLV T EIGAYMYIKA,)

o. HETAPOPA
B. elpoveia
Y. opoioyia
d. ev0v Adyo
6) 'Exave pio peyan ............... Kol Topo eraviABe oto BEpa TOL.
a. enépuPoon
B. wopEpPoon
Y. duapaon
d. apEkPoon

7) Bpeite ) AéEn mov dev elvarl Guvadvoun UE TIC AAAES:

a. AOTANKTIGHLOG
B. £pLoa

Y. Qrovikio

0. EKPUMGUOG

8) Dot éypayov KO ekTOC 0md guéva! (Tt SNAMVEL TO VITOYPUUUIGUEVO;)

a. avtifeon
B. attio
Y. eaipeon
d. GUUTEPOGLLOL
9) Oa wpémet vo avtihapuPdvovtat .. ... LaONTEC TA TUPUTTOUOTAE TOVG.
a. ol
B. amd Tovg
Y. LLE TOVG
d. Y10l TOVG

10) Zog divovton pepovouévee mpotdoels. No tig BareTe 6T 6MGTH GEPA,
®ote vo oynuatiCouv pia Koavovikn mopdypaeo:

A.  H mapdauetpoc avt egivor 1dwitepa kpiciun oto Aeyoueva,
Aertovpynuata, OnAadn oto exayyéApoto tov ennpedlovy aueca tn {on
TOAAGDV avOpOT®V.

B.  ®a uropovoce, Aowmdv, va yivel A0yog Eexmpiotd yia ToV KaAO
KOl Y100 TOV KOKO OMNUOGLOYPAPO GE 0L GYNUATIKNY YEVIKELOT), i0mG Alyo
avBaipetn, apov TEVTOTE VLAPYOVV 01 EVOLAUEGES TEPIMTAOGELC.
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I. Ye kéBe touéa epyaciog LITAPYOLY OVTOL MOV TIWOVV TO
EMAYYEMLA TOVG, €MEWN] TO OOKOLV OMOTH, OAAG Kol Ol Kokoi
EMAYYEALOTIEG, TTOL OEV EVOLPEPOVTIOL VIO TO OTOTEAEGULOTO 1) TOV
AVTIKTUTO NG EPYAGIOG TOVG.

A.  "Eva té€t010 Topddetypo eival ) Onpocioypagia, yoti o €pyo
TOV ONUOGLOYPAP®Y omevbiveTor o YIAMAdEC 1 GE  EKATOUULPLO
AVOYVOOTES, aKPOaTEG 1) TNAEDENTES Kot TO amoTELEGA TOV ivon AUEGO.

H cwot oepd sivar:

Mépog I: povaoeg 30
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MEPOX II. KEIMENO KAI EPOQTHYXEIX

Kabac ta ypovia mepvovv, | {on aAralel. Edikd otig pépeg pag, n ahloyn
avtn etval toyvToTn Kot priikn. Xyedov Timota oV eival ma avoyvopicio
GTOV KOGLO YOP® OGS, AKOUO KOl GE GYE0T UE TO TPOGPaTO TapeAfov. O
KOPLOg AOYOG YU avtd eival, BEPara, n paydaio e€EMEN TG TeXVOAOYiOC,
OV OEV £YEL APNOEL KavEVAY TOUEN TNG LONG AvETNPENGTO.

Onwg givar puo1Ko, 01 TPAOTOL TOV EVGOUATMOVOLV TN VEQ TEXVOAOYIO 6T
Con tovug givarl ot véor Ko To cvykekpiéva ot Epnpot. To yeyovog avtod
&xel aALAEEL prlikd TNV KaONUEPIVOTNTA TOVG: O TPOTOC TOL WAODV, TOV
dtookeddlovy, TOv UEAETOVV, TOL OVOTTOGGOVV SLOTPOCMOTIKEG CYECELS
KoL EVOlupEpovta, dev £xel Timota Kowd pe to maperbov. I'a mopdderypa,
TPV amd UEPIKES OEKAETIEC, OTIC YELTOVIEG TNG AONvac 1| GAA®V TTOAEWV,
Ntav cvynBiepéVo ot yoveig va avalntodv kabnuepva ta Totdid Tovg, Tov
cuvBog Enanlav €€ Kot dev NTav omitl. XeWmvo 1 KoAoKaipt, Tnv dpo
TOL VOYTMOVE, TO TEPILEVOV VO YUPIGOVV ATt TO ATEAEIDTO TTOLYVIOL UE TOVG
@iAoVG TOVG GTOVG YVUPW OPOUOVS KOl OTIS OAGVEG. Zuyva oKOVYOVTOV
QOVEG Ko KoPYAdes, e TIC LOVAOES VO OYOVOKTOVV, TTOV TO, TOLOLE TOVG
«moté 0ev palevovtal vopic oto omitt Kot 0ev Stofalovv yio To oyoreiom.

Nuepa, to Tondld ekeiva £xovv yivel yoveig kot To TpOPANUA Tovg givan
aKpP®G To avTifETO: TO TOUOIA TOVG TEPVOLV TOV YPOVO TOVE Thv® amd pio
00ovn katl ondvia Pyaivouv €€m. To kvntd tAE@mvo, To. S1OOIKTLOKA
oy viola, 1 0100y TOV EIKOVOV KoL 1] YNPLOKT ETIKOIVOVIO, LOVOTOAODV
TOV YPOVO TOVG GYedOV KA oTiyun e nuépac. Mécsa and OAa avtd, ot
onuepvol £enPotr dnuovpyodv Tov 01KO TOUG KOGHO, HOKPLY amd TOV
Eleyyo TV Yovémv Touc. Efvar n emavactacn tovg, N Tposmadeld toug yio
aveCaptnoia. Dvoikd, dev Tovg Pyaivel mévia oe KaLo.

Me 11 6€1pd TOVG, 01 YOVEIC TOPATOVIOVVTOL TTOL TO TOLOLE TOVG EYOLV Yivel
vobpd, yopic ovtdvia Kot KivnTikotnta, 1ov foaplovvtal Tnv dBAnomn kot
EYOVV TEPLGGOTEPOVE PIAOVG EKOVIKOVS TTOPd TTparypaTikovg. [Ipocmabodv
va yepicovv tov ypovo Tovg pe kABe €100vg OpacTNPOTNTES, VA TA
wOncovv e KABe TPOTO EKTOC GTITIOV, VA TO TOPAKIVIIGOLY. AAAOTE TAAL
VIOB0VY aVAKOVPIGUEVOL TTOL TOVS APTVOVV GE Novyio, E5T® Kot Yio Alyo.
H aAnbeo eivon T 0 ymelakog KOGHOS TV EPNPoV TIC To TOAAES POPES
TPOKAAEL LEYAAEG EVIAGELS [LE TOVG YOVEIG TOVG. ..
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Epotiosic ue Baon to KEIUEVO

Hapokxaiovue, va GHUEIDCETE GTO ATAVTHTIKO PUALO TTOV 6aS ExEl 000¢&l To
YPAUUA, TTOV AVTIGTOLYEL 6TH 6GTH AmavTHon Yia TiS epwtioels 11-20

11) Zopeova pe To Keipevo, 1 texvoloyia £xel oAAGEEL:

a. ™ (oM Tov epnpov
B v {01 O ®V

Y. TOV KOGLO GUVOMKA
) OAaL TOL TOPOTTAV®

12) ZOuemva e 1o Keipevo, ol onuepvol yoveig:

a. OYOVOKTOVV TTOV Ta Tod1d ToVg 0ev mailovv EEm

B. Enanlav €Em Otav NTav EKEIVOL OO

Y. elvoll IKAVOTTOMUEVOL TTOL TOL TAdL TOVG EIval GTtiT
d. glyav mo moOAAEC GLYKPOVGELS MG PN ot

13) Zopupwva pe to Keipevo, ot onuepvol £pnpPor ypNooTooNY TV
YNOOKN TEYVOAOYia Yia vaL:

o. Ee@youv amd Tovg YOVELS TOVG
B EMOVOCTATIGOVV

Y. VIOGOVV OvEEAPTNTOL

) O\aL TOL TOPOTTAVE®

14) Zoppwva pe to KeIPEVO, T oLl Tnyoivouy 6€ OpacTnplOTNTES:

a. eneon BEAovv va Byovv and 1o omitt
B. v va Ee@Uyovy amd TNV TEXVOLOYin
Y. EMEON TO BELOVV 01 YOVEIC TOVG
d. EMELON TNyaivouv o1 iAol Tovg

15) «moté dev ualevovior vapic oto oritt kor dev 01afalovy o 10 oyorEion:
T1 OEYVOLV TO EIGAYOYIKA,

a. HETOPOPIKO AOYO

B. epaveio

Y. ev0v Adyo

d. TAQy10 AOYyo

16) X1t debtepn TapdypaPo TOL KEWEVOL SEV VITAPYEL:
a. TopBaoEy Lol
B. avadpour 6to TopeAfoV
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Y.
d.

gova
GUUTEPOGLLOL

17) ... o1 Ip@T01 IOV EVOWUOATAOVOLY TN VEQ TEYVOLOYIa. 0T (W] TOVG...  TOL0.
amd TIC TOPAKAT® AEEEIC EVOL GLVAOVLUN TNG VITOYPOUMGHEVNG AEENG;

o

B.
Y.
J.

EVTAOGOLV
evBappivouv
gvieivouv
OVOKOAVTTOVV

18) ...va yeuicovv tov ypovo tovg ue kabe €1000¢ OPOCTHPIOTNTES, VO, TO;

wOnoovy ue kdbe TPOTO EKTOG OMITION, VO TO, TOPAKIVHOOVV: TMOGC
GLUVOEOVTOL O1 TPOTAGELS GTO OTOCTACLLOL,

a.

B.
Y.
3.

TOPOTOKTIKT GOVOEST
VTOTOKTIKT GOVOEDT
AGVVOETO GYNLLO,
EMOOTIKT GUVOEDT)

19) To k1vnto thAépmvo, T0. d10OIKTVAKG TTOLYVIOLO, 1] OLAOOXT TWV EIKOVWY

Kal 1] WHQLOKH ETIKOIVWVIQ LOVOTTWAODY TOV YpOVO TOVG GYEIOV KAbOE oTiyun

TS NuéPag:
a.

B.
Y.
J.

TOPOLOI®ON
TPOCMOTOTOIN G
HETAPOPA

oYM KOKAOL

20) O kbproc Aoyoc yi” awto eivar, Péfara, n paydaio eCElcn e teYvoLoyiag...

a.

=™

GUUTEPOGLLOL
avtifeon

a1TIoAdYNoN
emPePainon

Mépog I1: povaodeg 30
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MEPOX II1. ITAPAT'QI'H AOI'OY

Noa ypayete 610 amavintikd eOALO mov cag £xel 000el éva keipevo 150-
200 AéEewv omov Oa amavtdte oto ENG epdtnua: Tlowo Bewpeite 6Tt eivan
10 Mo cofapd mPOPANUE OV dnovpyel otovg EENPovg 1 SPKNC
EVOOYOANOT UE TNV YNPLOKN TEXVOLOYia Kot Yia motovg Adyovg; (150-200
AEEELG)

Mépoc I11: povaodeg 40
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P~ OEMATA EIZATQrIKQN EZETAZEQN 2024
Pierce MAOHMA: MAGHMATIKA

TA=H: B° AYKEIOY

OEMA 1°

Na xapaktnpioete kabe pia anod tic akoAouBeg mpotdoelg Ue (2) av eival cwot N pe (A) av ivat AavBacpévn.

A. H efiowon xV = a pe a < 0 kat v meptttd Guotko aplopo,

éxeL akplpwC pia pita, v x = V—a. : n
B. loxveL ot |a — B| < |a| + |B] 2 A
I. Av og éva mopoAANAOYPAUO TPELG OO TLG YWVIEG TOU 5 A
€xouv aBpotopa 270°, tote auTo gival opBoywvlio.

A. Eva tetpamAeupo pe logg Slaywvioug eivatl opBoywvio. z A
E. 2& KGOe aplOunTKn TPO0do LoXVELOTL: Sypg — Sy = dyq1 z A

MONAAEz: 25



OEMA 2°

A. Na AUoete tnv g€lowon: ||—3x + 4| — 10| +x2+4x+4=0 MONAAEZ: 13
B. Na AUoete tnv e€lowon: 2x + V49 — 14x + x2 =5 MONAAEZ: 12
OEMA 3°

Aivetain e€lowon: x2 + (k +3)x +k+6 =0 (1), k €R

A. Na Sei€ete 6TL n Stakpivouoa A tng efiowong eivat ion pe k2 + 2k — 15. MONAAEZ: 4
B. Na Bpeite TI§ TIHEG TOU K wOoTE N e§lowaon va €xeL SUO PLIEG TPAYATLKESG KAL AVLOEG,. MONAAEZ: 8
I. Na Bpeite yio moleg Tipég tou k oxVet x? + (k + 3)x + k + 6 > 0 yia kdBe x € R. MONAAE:: 4

A. Av x4, x, €lvaL OL TIPAYUATLKEG KOl AVIOES pileg TG e§lowong (1), va Bpeite TIG TYLEG TOU K yLA TLG OTIOLEG LOXUEL

xixy + xx5 = —40 MONAAE:: 9

OEMA 4°
Aivetoal Loookelég tpiywvo ABT, pe AB = AT kal éotw Z

To p€co tnNg Al'. Dépvoupe kaBetn otnv A" oto Z n onolia ;

Téuvel o UPog A4 oto onuelo H. Anod to onueio Z

dépvoupe eubela € kabetn otnv A4 mou téuvel Thv A4

oto onpeio K. B
A. No anodeiete otLto K eival to péoo tng A4. MONAAEZ: 8

B. Ztnv npoéktaon tng HZ naipvoupe onueio ® wote HZ = ZO. Na anodeitete 6Tl To TeTpdnievpo AHIO slval

pouBoc. MONAAEZ: 8

I. Av I 1o onueio oto omoio n I'O@ téuvel v eubsia & va amnodeifete Ot o TeTpdmAeupo OIHK eivat

rmapaAAnAdypappo. MONAAEZ: 9
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